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.� strata ��� 1 ����
��� �!2�'#�+,���!-�2*�2	� 364.27 ��$�%5#%������%� �
".� strata
��� 2 �� 312.74 ��$�%5#%������%� �����1��
��� �!2*�2	��$(�2#� strata �$��
5������'�(�.���6#�
!7�4������+�6#��$� ��
��� �!���%���+��2*�2	�.� stratum ��� 1 �� 202.02 ��$�%5#%������%�.�
��6#�����8��
" stratum ��� 2 �� 193.86 ��$�%5#%������%�.���6#��	� �!$��	G �
".� stratum ��� 1
����
��� �!�����H�:���+
6#2*�2	� 236.65 ��$�%5#%������%� 25�� stratum ��� 2 �� 199.44 ��$�%5#
%������%� �����1��
��� �!:���+
6#�$(�2#� strata �$��
5������I.���6#�!7� �8��+�6#�
�$� ��
��� �!.%�����������I.��"�$08���
�� 0 J 40 �:�%���%���85��K
��� 2,668.22 ��$�%5#%�
�����%� .� stratum ��� 1 �
" 2589.38 ��$�%5#%������%� .� stratum ��� 2 �����"4��'#����.����
1 �
" 2 ��5��$0 62.45 �
" 64.80 ��#�G�:-�%G����"�$08���
�� 0 J 10 �:�%���%� 90.54 �
" 91.26
��#�G�:-�%G����"�$08���
�� 0 J 20 �:�%���%� �
" 96.51 �
" 96.98 ��#�G�:�%G����"�$08���
�� 0
J 30 �:�%���%� %��
���$0 2��+�$0#$%��25���"+�5����
�� �!0�����$0.%������5��$01 : 5.1 .�
stratum ��� 1�
" ��5��$0 1 : 5.9 .� stratum ��� 2

 &
&
�%'$(��)� *���$(�+��'#�+,���!-�.� strata ��� 1 ��H�25�����#�*50���� 341.90 ��$�%5#%�
�����%��
".%���� 3,425.65 ��$�%5#%������%� �
".� stratum ��� 2 ��H�25�����#�*50���� 177.75
��$�%5#%������%� �
".%���� 3,382.58 ��$�%5#%������%� #$%������&
�%'$(��)� *��0����
%
#��N .� stratum ��� 1 ��5��$0�$�
" 0.93 ��$�%5#%������%� �
" 0.49 ��$�%5#%������%� .�
stratum ��� 2 #$%�����&
�%'$(��)� *��.%����%
#��N.� stratum ��� 1 ��5��$0�$�
" 9.39 ��$�%5#%�
�����%� �
" 9.27 ��$�%5#%������%� .� stratum ��� 2



��������	
����
�������������������	�������� ����������  ����	!��	��"�������#"$���%���&"���"��
'
4.028, 4.039, 3.701 �	� 3.796 �%3	��
��"��&	�����"���
� �����4��	
�������$� stratum ��� 1 ��������"��
�����#"'��!;��%� 1,377.17 �%3	�&		����"�����������	�$���%� 13,003.77 �%3	�&	����"���������� �	�
stratum ��� 1 �����"�������#"'��%� 715.98 �%3	�&	����"���������� �	�$���%� 12,840.27 �%3	�&	����"������
���� ����%�=%���$������4��	
�������$� statum ��� 1 ��"��
' 1.87 ����>� ���> ('��%� 0.18 �	�$���%�
1.69  ����>� ���>) �	�$� stratum ��� 2 ��"��
' 1.76 ����>� ���> ('��%� 0.09 �	�$���%� 1.67 ���>� ��>)


